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PENCIL MARK PENCIL MARK
AT BODY CENTER AT BALANCE POINT

These calipers are caled vernier
calipersbecausethevernier scaleon /
the calipers lets you interpolate to
get hundreths of a centimeter. |

Interpolate means to find out what L D
number lies between two other ?
numbersonanequallyspacedscale —~ \‘|‘|m\I\H\s\lm\uﬁ\uu\\\Zl\m\uﬁluu\m?‘ ~
or table. Say we look at the zero VERNIER sCALE—> (‘,‘1“;},'1‘5‘}'4‘1‘;‘;(‘, )

mark on thevernier scaleand it lies f \ y
between the 4.7 and 4.8 centimeter / -
marks. The zero mark looks to be 4 TN /
|“|||

about halfway between 4.7 and 4.8
But look at the position of all the |

so we might guess the value 4.75.

marksonthevernier scalerelativeto T 01 2
the tenths of centimeter scale right
aboveit. Notice the 4 on the vernier
scale lines up better than any other vernier scale number with the mark above it. So our
measurement would be 4.74 cm. If the 5 on the vernier scale had lined up better the measurement
would be 4.75 cm. Now the 3.5 mark on the vernier scale might be judged to line up better than the
4, inwhich case the measurement would be 4.735 cm. And that’ swhy the 0.05 mm s printed on the
vernier scaleto let you know the ultimate accuracy you can get. | believe, however, that being able
to judge a hundreth of a centimeter usimg the nearest whole number on the vernier scaleisall that
should be expected. So CM = 4.74. Remember 1 cm = 10 mm.




